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QUESTION 1

The implementations group has been using the test bed to do a ‘proof-of-concept’ that requires both Client 1 and Client
2 to access the WEB Server at 209.65.200.241. After several changes to the network addressing, routing scheme,
DHCP 

services, 

NTP services, layer 2 connectivity, FHRP services, and device security, a trouble ticket has been opened indicating that
Client 1 cannot ping the 209.65.200.241 address. 

Use the supported commands to isolated the cause of this fault and answer the following questions. 

The fault condition is related to which technology? 

A. NTP 

B. IP DHCP Server 

C. IPv4 OSPF Routing 

D. IPv4 EIGRP Routing 

E. IPv4 Route Redistribution 

F. IPv6 RIP Routing 

G. IPv6 OSPF Routing 

H. IPv4 and IPv6 Interoperability 

I. IPv4 layer 3 security 

Correct Answer: E 

On R4, in the redistribution of EIGRP routing protocol, we need to change name of routemap to resolve the issue. It
references route-map OSPF_to_EIGRP but the actual route map is called OSPF->EIGRP. 

Client 1 is able to ping the Fa0/1 interface, which means that connectivity throughout the EIGRP 10 network is working.
However, pings fail when using the s0/0/0/0.34 interface. This is the interface where OSPF is configured. This should
be 

our first clue that the problem is with EIGRP to OSPF route redistribution. Upon closer examination of the redistribution
configuration, we can see that the route-map name does not match that of the route-map referred to in the redistribution 

statement. These names need to match exactly. 

 

QUESTION 2
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Refer to the exhibit. Your company security policy states you must use SSH on your network devices. Your attempt to
SSH into SW3 is unsuccessful. What action must you take to correct the issue? 

A. Change access-class 100 in to access-class 175 in. 

B. Change access-class 100 in to access-class 150 in. 

C. Change access-class 100 in to access-class 100 out. 

D. Change transport inut ssh to transport input telnet 

Correct Answer: A 

 

QUESTION 3

In which standard troubleshooting methodology do you start in the middle of the OSI model stack, then move up or
down the stack based on your findings? 

A. follow the path 

B. bottom up 

C. divide and conquer 
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D. move the problem 

Correct Answer: C 

 

QUESTION 4

Which of the following are not true OSPF LSA rules? 

A. OSPF LSA type 5 triggers an LSA type 7 at an ABR between an NSSA and the backbone area. 

B. OSPF LSA type 1 triggers an LSA type 3 at an ABR. 

C. OSPF LSA type 7 triggers an LSA type 5 at an ABR between an NSSA and the backbone area. 

D. OSPF LSA type 3 triggers an LSA type 4 at an ABR. 

E. OSPF LSA type 5 triggers an LSA type 7 at an A5BR but only in N5SAs. 

F. OSFP LSA type 2 triggers an LSA type 3 at an ABR. 

Correct Answer: ADE 

 

QUESTION 5

Which two components are used in GRE packet? (Choose two.) 

A. GRE Header 

B. Payload Packet 

C. http://www.CertBus.com/300-135.html 

D. http://www.CertBus.com/300-135.html 

Correct Answer: AB 
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